®

.
y
Thiais&id -
:\‘LE ﬁ'\ /;\$| | i,—\ Ii"' 1¢
JB METRIC BANJO
71011
d
/ A rrerrrrees
14 0
A
RERT:
R % wE JRESE
PART NO. 2 HOSE SIZE DIMENSIONS

T JELR BOLT NPT 23 A q . H

BRAIDED SPIRAL DN DASH
71011-10-04Z - M10X1 6 4 19 10 22 13
71011-10-05Z = M10X1 8 5 19 10 22 13
71011-10-064 71012-10-06Z| M10X1 10 6 19 10 22 13
71011-12-06Z2) 71012-12-06Z | M12X1.5 10 6 21 12 26 15
71011-14-04Z - M14X1.5 6 4 20.5 14 28 18
71011-14-05Z = M14X1.5 8 5 21.5 14 28 18
71011-14-064) 71012-14-06Z | M14X1.5 10 6 21.5 14 28 18
71011-14-082) 71012-14-08Z | M14X1.5 12 8 22.5 14 28 18
71011-16-05Z - M16X1.5 8 5 22.5 16 32 18
71011-16-082) 71012-16-08Z | M16X1.5 12 8 25 16 32 18
71011-18-062] 71012-18-06Z | M18X1.5 10 6 26.5 18 36 22
71011-18-082) 71012-18-08Z | M18X1.5 12 8 27 18 36 22
71011-18-104 71012-18-10Z | M18X1.5 16 10 27.5 18 36 22
71011-20-06Z] 71012-20-06Z | M20X1.5 10 6 29.5 20 36 22
71011-20-084 71012-20-08Z | M20X1.5 12 8 30 20 36 22
71011-22-102) 71012-22-10Z | M22X1.5 16 10 30.5 22 46 30
71011-22-122) 71012-22-12Z | M22X1.5 20 12 32 22 46 30
71011-27-10Z2) 71012-27-10Z | M27X2 16 10 36.5 27 56 36
71011-27-162) 71012-27-16Z | M27X2 25 16 36 27 56 36




71011-33-127] 71012-33-12Z| M33X2 20 12 43 33

64

50

71011-42-20Z71012N-42-20Z] M42X2 32 20 54/56.6 42

78

64

i 1RGE AR RSFIE R g SVE KR RS & T S ek

Notes: 1.The dimension A before"/" is for braided hose fitting and after "/" is for spiral hose fitting.




